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SR ST ey (Weighted Aritnmetic Mean)
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With the help of the following data, calculate weighted arithmetic mean.

. 114
10 1 2
20 3
‘ 30 | 4
40 6
- 50 5
SoLuTion. |
=T x W ; -
B 10 2 | 20
20 3 ; 60
30 4 | 120 ]
i 40 6 240 .
50 3 250
W =20 , IWx =690
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24 km p.h. What is the average speed in km per hour ?

SOLUTION. |
T (feReto W) T (faet °)
(Speed in km p.h.) X (Time in minutes) W WX
30 25
25 oo 1500
T 50 |
40 50 |
_ 30 6o 3000
B 40 i
10 ' 6 60
24 28 enco 1440
24 |
i >W =191 TWX = 6000
7o ZWX )
W
191
¥q:, sirea fd = 31-41 km p.h.
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